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111+# & 55,118 236.9 60,375 - -
112+ & 56,202 240.0 60,113 — -
113+ & 59,080 252.5 60,552 - —
67 & 57,750 246.7 60,552 — —
(N 57,845 247.1 60,552 — —
87 & 58,571 250.2 60,552 — —
97 & 58,889 251.6 60,552 — —
107 & 59,101 252.5 60,552 — —
117 & 59,516 254.3 60,552 — —
127 & 59,080 252.5 60,552 — —
114#67% & 61,268 262.4 60,552 716 1.2
ot E AR Y 6.1 {15.7} — -- {1.2}
1% & 57,534 245.9 60,552 — —
27 & 58,316 249.4 60,552 - —
37 & 58,758 251.4 60,552 - —
47 59,805 256.0 60,552 - —
57 & 60,594 259.4 60,552 42 0.1
67 & 61,268 262.4 60,552 716 1.2
FF 8B % 1.1 {3.0} — 1,604.8 {1.1}
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